MNMpenoxpaHuntensHble knanaHbl ARON NG16 / NG25

V.M.P-V.S.P-V.UP,V.LP-V.LP-V.L.P - naHensHoro n Tpy6Horo

MOHTaXa
TexHn4YecKne xapakTepuCcTUKM

ApxaHrenbck (8182)63-90-72  Vxesck (3412)26-03-58 MarnuToropck (3519)55-03-13 Mepmb (342)205-81-47

AcTaHa (7172)727-132 MpkyTck (395)279-98-46 MockBa (495)268-04-70 PocToB-Ha-[oHy (863)308-18-15
AcTpaxaHb (8512)99-46-04 KasaHb (843)206-01-48 MypmaHck (8152)59-64-93 PasaHb (4912)46-61-64

BapHayn (3852)73-04-60 KanvHuHrpap (4012)72-03-81 HabepexxHble YenHbl (8552)20-53-41 Camapa (846)206-03-16
Benropog (4722)40-23-64 Kanyra (4842)92-23-67 HwxHwnii Hoeropop (831)429-08-12  CankT-lMeTepbypr (812)309-46-40
BpAHck (4832)59-03-52 KemepoBo (3842)65-04-62 HoBoky3Heuk (3843)20-46-81 CapartosB (845)249-38-78
BnaausocTok (423)249-28-31  Kupos (8332)68-02-04 HoBocunbupck (383)227-86-73 CeacTonosb (8692)22-31-93
Bonrorpap, (844)278-03-48 KpacHonap (861)203-40-90 Owmck (3812)21-46-40 Cumdpeponons (3652)67-13-56
Bonoraa (8172)26-41-59 KpacHospck (391)204-63-61  Open (4862)44-53-42 CMorneHcK (4812)29-41-54
BopoHex (473)204-51-73 Kypck (4712)77-13-04 OpeH6bypr (3532)37-68-04 Couu (862)225-72-31
EkaTepunHbypr (343)384-55-89 Jlvneuk (4742)52-20-81 Men3a (8412)22-31-16 Craspononb (8652)20-65-13
VBaHoBO (4932)77-34-06 Kunprunsua (996)312-96-26-47 KasaxcTtaH (772)734-952-31 TapxvkncTaH (992)427-82-92-69

EouHbin agpec onAa Bcex pernoHos: any @nt-rt.ru Il www.aron.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Yha (347)229-48-12
Xabaposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnb (4852)69-52-93


mailto:any@nt-rt.ru
http://www.aron.nt-rt.ru

V.*.P PRESSURE CONTROL VALVES PLATE
V.*.L PRESSURE CONTROL VALVES IN LINE

These pressure control valves are avail-
able in the basic VMP* maximum pres-
sure, VSP* sequence and VUP* exclu-
sion versions, with a single pressure
value and three calibration ranges that
cover the band 15 + 400 bar. It is possi-
ble to use auxiliary pilot valves, which
can be the simple standard AD3E
solenoid valve, by the mere exchange
of covers. These valves have been
fitted with an important safety feature
for the operation of the system where

Pressure max.
Setting ranges

Max. flow V*P16...
Max. flow V*P25...

Hydraulic fluids
Fluid viscosity

400 bar

Spring 1 15 + 45 bar
Spring 2 15 + 145 bar
Spring 3 45 + 400 bar
150 I/min

350 I/min

Fluid temperature

Ambient temper

ature

Max. contamination level
with NAS 1638 with filter B,.>75

Mineral oils DIN 51524
10 + 500 mm?/s

-25°C + 75°C

-25°C + 60°C

class 10 in accordance

25—

they are used; a mechanical end of | Drainage V*P16... 1+ 21/min
stroke stop prevents the operator from | Drainage V*P25... 1+ 2.5 1/min
setting pressure values higher than | Dynamic pressure at drainage Max. 2 bar
those specified in the catalogue (it is | Weight V*P16... (without pilot valve) 3,3 Kg
VAP /V.*L.. impossible to compress the springcom- | Weight V*P25... (without pilot valve) 7.4 Kg
VAP, Ch. llpace 7 Pletely). In the standard configuration | Weight V*L16... (without pilot valve) 4,6 Kg
VPE G 1 Pace 8 these \./alvesf are supplled yvﬂh a 1.6 | Weight V*L161... (without pilot valve) 4,5 Kg
il . bar main spring and with calibrated @1 | Weight V*L251... (without pilot valve) 7,7 Kg
V.*.L CH. Il paGe 9/10 mm pilot feed orifice (Variant part No. | Weight V*L25... (without pilot valve) 8,3 Kg
BS.VMP... CH. Il Pace 11 00).
KEC.16/25... Ch. V PAGE 9 Subplate mounting valves are suitable
= for covers which do not conform to DIN
C*P.16/25... CH. V Pace 9 standards type C*P16/25.. whilstin line
CETOP 3/NG06 CH. I PAGE8  mounting valves are suitable for DIN
STANDARD sPooLs FOR AD.3.E  CH. | page 10 standards covers type KEC16/25...
AD.3E... CH. I pace 11 PRESSURE - FLow V.*.16 PRessURE - FLow V.*.P.25
AM.3.VM... CH. IV paGE 9 — = /J
ORDERING CODE g - S .
o L o
Valve Ll L
M = maximum pressure T e e w e 3 ® = -
S = sequence Q (I/min) Q (/min)
U = exclusion (areas rep. 1,15 : 1) The fluid used is a mineral oil with viscosity of 46 mm?/s at 40°C.
The tests were carried out at a fluid temperature 40°C.

J Uy 00 Ud

g

P = Plate mounting
L = In line mounting

E = Presetting for solenoid valve
Not for sequencing valve V.S.P...
(omit if not required)

Size (see overall dimensions)
16 - 25 = NG16 or NG25
161-251 =for V.*.L... only
(in line mounting valve)

Type of adjustment:
M = Plastic knob
C = Grub screw

Setting ranges

1 = 15 + 45 bar (white spring)
2 =15 + 145 bar (yellow spring)
3 =45 + 400 bar (green spring)

00 = No variant

V1 = Viton

AC = Exclusion valve for
accumulators (only for VU*.**)

AQ = Presetting for XP3

Serial No.

HybrAuLIC sYmBoLS

V.M.P.16.**...
V.M.P.25.**...

Maximum pressure
valve

Internal piloting

and draining
V.S.P.16.**... 7
V.S.P.25.**... RIS <=

Sequencing valve

Internal piloting
External draining

V.U.P.16.**...
V.U.P.25.**...

Exclusion valve
External piloting
Internal draining

7
|

Wy
Y

%




V.*.P... PRESSURE CONTROL VALVES PLATE

OvVERALL DIMENSIONS V.*.P.16...

53.8
47.5 max.51.5 max.152
31.8
22.1 |13 Fu%u‘ ﬁ?é;? ‘i‘
e ol e
T
M= _n BIE
) LJ
— i R
| |
. CH. 28
613 614 7
OR 2-012/90 | | A
CETOP RP 89H RO6 :rL:H ‘ | ! I
RN NN T
\
OR 5256/1//LH OR 2-110
VERSION WITH SE 46 =
PRESETTING FOR max.52 /m AN
SOLENOID VALVE ; ; i
] i
& —E - &
|
i
i -
61.5
54 J13
80
Fixing screws UNI 5931 M12x40 with material specifications min. 8.8
Tightening torque 70 Nm /7 Kgm
i . Support plane ol 03
M = 1/4" BSP connector for pressure gauge for maximum pressure valve version only specifications '
Y = 1/8" BSP external draining for sequencing valve version only 7
OVERALL DIMENSIONS V.*.P.25...
max. 154
55.6 max.51.5 max.52
33.4

70

66.7

36.3

VERSION WITH
PRESETTING FOR
SOLENOID VALVE

Fixing screws UNI 5931 M16x100 with material specifications min. 8.8

Tightening torque 70 Nm /7 Kgm

M = 1/4" BSP connector for pressure gauge for maximum pressure valve version only
Y = 1/8" BSP external draining for sequencing valve version only

40

82

OR 2-123

SE ¢6

\ /1 -
OR 2-012/90

66.7

63.4
117
Support plane B3]
specifications kv
7




V.*.P.E...

MounrTinG TYPE V.*.P.E...

PRESSURE CONTROL VALVES PLATE

V.*.P.E...+
AD.3.E.15.E... or AD.3.E.16.E...

1) Solenoid de-energized, pump to tank.

2) Solenoid energized, circuit pressure control-
led by valve on cover.

Formounting valves to have normally discharged
configuration it is necessary to use an
AD.3.E.15.F.. or AD.3.E.16.F... type solenoid
valve, whilst for subplate mounting valves it is
necessary to use type AD.3.E.15.E.. or
AD.3.E.16.E.

JE S

DC.83 AC. 8l

OR 2-012/90

DC.157.5 AC.140.5

Y
i

V.*.P.E...+
AD.3.E.15.F... or AD.3.E.16.F...

1) Solenoid de-energized, pump pressure con-
trolled by valve on cover.
2) Solenoid B energized, pump to tank.

DC. 83 AC.81

OR 2-012/90
DC. 157.5 AC.140.5

V.*.P.E... + AM.3.VM.B... +
AD.3.E.15.E...or AD.3.16.E...

1) Solenoid de-energized, pump pressure con-
trolled by valve on cover.
2) Solenoid energized, pump pressure control-
led by valve AM.3.VM.B.

DC. 230 AC.213

DC.83 AC. 81

29.5
#5. 5

" Y
AD3E. ..
= §

40

aM3VMB. .

Al
OR 2-012/90

V.*.P.E... + AM.3.VM.B... +
AD.3.E.02.C...

DC. 235 AC. 205

1) Solenoid de-energized, pump to tank.

2) Solenoid A energized, pump pressure con-
trolled by valve AM.3.VM.B.

3) Solenoid B energized, pump pressure con-
trolled by valve on cover.

DC.230 AC.213

DC.83 AC.81

. EEEniin
|
|
T
|

62

40

|
t

I
I
Tt
d\
[}

[l
[Nl
w\

I

OR 2-012/90

V.*.P.E... + AM.3.VM.B... +
AD.3.E.01.C...

1) Solenoid de-energized, pump pressure con-
trolled by valve on cover.

2) Solenoid A energized, pump pressure con-
trolled by valve AM.3.VM.AB.

3) Solenoid B energized, pump pressure con-
trolled by valve AM.3.VM.AB.

DC. 235 AC. 201

226

o

m

1

DC.83 AC.81

62

AM3VMAB. . .
[

40

OR 2-012/90




V.*.L... PRESSURE CONTROL VALVES IN LINE

OvEeRALL DIMENSIONS  V.*.L.16...

1/2" BSP P connector
3/4" BSP T connector

max.51.5

1/8"BSP

1/4”BSP

+ — —- =4 S
‘ a
0 65 cro2s ~
Y 3/47Bsp |
P 1/2"BSP
VERSION WITH PRESETTING FOR SOLENOID VALVE 39
61.5
—
max. 52
37
46 |14
78
max. 152
Fixing screws UNI 5931 M8x90 with material specifications min. 8.8
Tightening torque 24 Nm / 2.4 Kgm
M = 1/4" BSP connector for pressure gauge for maximum pressure valve version only
Y = 1/8" BSP external draining for sequencing valve version only
OVERALL DIMENSIONs V.*.L.161...
3/4" BSP P and T connectors max.S1.5 | /37 BSP |/ 47 BSP
A
= e 1 s
‘= =R e
! Ch. CH. 17 .
65 CH. 28 3485 | :
o
@ | | i
M H
F 3/4"BSP
29
61.5
max. 52

Fixing screws UNI 5931 M8x90 with material specifications min. 8.8
Tightening torque 24 Nm / 2.4 Kgm

M = 1/4" BSP connector for pressure gauge for maximum pressure valve version only

Y = 1/8" BSP external draining for sequencing valve version only

max.

152




V.*.L... PRESSURE CONTROL VALVES IN LINE

OVERALL DIMENSIONS V.*.L.25...

1" BSP P connector

1 1/4" BSP T connector

CH. 28

OR 2-012/90 AJ////

max.51.5

68

| [Tl
Y
€] 5
7 :
_ 85 3
rm
oo

max. 52

=

Fixing screws UNI 5931
M8x110 with material specifications min. 8.8
Tightening torque 24 Nm / 2.4 Kgm

=< ﬁi?\
\

VERSION WITH PRESETTING FOR SOLENOID VALVE

M = 1/4" BSP connector for pressure gauge for maximum pressure valve version only
Y = 1/8" BSP external draining for sequencing valve version only

OvERALL DIMENSIONS V.*.L.251...

1 1/4" BSP P connector

1 1/2" BSP T connector

OrR 2-012/90—

CH. 28

46

max.51.5

64.

o

25

max. 156

max. 52

Fixing screws UNI 5931
M8x120 with material specifications min. 8.8
Tightening torque 24 Nm / 2.4 Kgm

VERSION WITH PRESETTING FOR SOLENOID VALVE

M = 1/4" BSP connector for pressure gauge for maximum pressure valve version only
Y = 1/8" BSP external draining for sequencing valve version only




ApxaHrenbck (8182)63-90-72  Vxesck (3412)26-03-58 MarnuTtoropck (3519)55-03-13 Mepmb (342)205-81-47

AcTaHa (7172)727-132 MpkyTck (395)279-98-46 MockBa (495)268-04-70 PocToB-Ha-[oHy (863)308-18-15
AcTpaxaHb (8512)99-46-04 KasaHb (843)206-01-48 MypmaHck (8152)59-64-93 PAasaHb (4912)46-61-64

BapHayn (3852)73-04-60 KanvHuHrpag (4012)72-03-81 HabepexxHble YenHbl (8552)20-53-41 Camapa (846)206-03-16
Benropog (4722)40-23-64 Kanyra (4842)92-23-67 HwxHwnii Hoeropogp, (831)429-08-12  CankT-lMeTepbypr (812)309-46-40
BpAHck (4832)59-03-52 KemepoBo (3842)65-04-62 HoBoky3Heuk (3843)20-46-81 CaparosB (845)249-38-78
BnaausocTok (423)249-28-31  Kupos (8332)68-02-04 HoBocubupck (383)227-86-73 CeBacTononb (8692)22-31-93
Bonrorpap, (844)278-03-48 KpacHogap (861)203-40-90 Owmck (3812)21-46-40 Cwumchbeponons (3652)67-13-56
Bonoraa (8172)26-41-59 KpacHospck (391)204-63-61  Open (4862)44-53-42 CMoneHck (4812)29-41-54
BopoHex (473)204-51-73 Kypck (4712)77-13-04 OpeH6ypr (3532)37-68-04 Coun (862)225-72-31
EkaTepunHbypr (343)384-55-89 Jluneuk (4742)52-20-81 Men3a (8412)22-31-16 Crasponornb (8652)20-65-13
VBaHoBO (4932)77-34-06 Kuprunsua (996)312-96-26-47 KasaxcTtaH (772)734-952-31 TapxvkncTaH (992)427-82-92-69

EounHbin agpec onAa Bcex pernoHos: any @nt-rt.ru Il www.aron.nt-rt.ru

CypryT (3462)77-98-35
Teepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Yha (347)229-48-12
Xabaposck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosel (8202)49-02-64
Apocnasnb (4852)69-52-93


mailto:any@nt-rt.ru
http://www.aron.nt-rt.ru



